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= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
=AEE 10,616,465 10,447,752 168,713
= 326,700
Xl 474,000
J| 126,000
< 338,450
Al ,351,315
el M (sdBEs /st E3E s et 872,029 338,500 533,529
= 26,000
Xl 200,000
< 73,500
Al 572,529
et 2t 671,029 118,000 553,029
= 6,000
Xl 200,000
< 63,000
Al 402,029
HEEETANZTH 236,349 78,620 157,729
101 @14 dl 36,606 0 36,606
04 JIZHHZ2XRHEE S 36,606 0 36,606
OF0I% L B2% 2IIF N28 &
B HHIBE) 44,6403 * 4F « 52 x 2 25,892
OB=E ZJIE &4 34 =2 (3
gh) 44,6403 * 2% « 42 + 30 10,714
201 Let24dH] 58,300 13,620 44,680
01 At 22l 55,800 11,420 44,380
OBBLHNSANS 89 a2y
70,000& = 7H 980
OXgoH2i2d /A¥3 3o A&+
70,000& * 209 2,800
OBBHUIEIR 4
70,000& = 109 1,400
OBAUBAA BHEIDY 42
70,0003 * 4H * 404 2,240
OMESXASEAIY SEH  1,000,000& * 14 1,000
OM9IHIIE stFa AR L 223 7
Ayl 46,500
—S&X % JIE HIE P
50,000& * 6501 & 3,250
— &5+ % JIEtHIE 50,0003 * 65004 3,250
—0ls4a s&EA Xt 2,000,000& * 20CH 40,000
OZJIEE ot&Ea EA 2 (2EH 8 880
—EA8F 7Y 20,0003 = 2904 2 580
—FIF AR BN PY
3,000& = 1009 300
02 =224l 2,500 2,200 300
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXNXEH =2HSs&EEg2s 3l
2,500,000 * 13l 2,500
203 R =&l 1,000 2,000 A 1,000
03 A F=XH S =ZH| 1,000 2,000 21,000
O=Mgd 2 A2 =& 1,000,0008 * 14! 1,000
206 M= Hl 21,043 0 21,043
01 MHZ 4l 21,043 0 21,043
ONMESE 22U 2L (sHFFHlL)
3,643,000& = 14 3,643
O3Ag MYJlE 2L (#FFHe)
200,000& = 504 10,000
OMYIl =HE AZE 2L (FFY|L) 7,400
—AYd =48 Zl P
1,000& = 5,000& 5,000
—MyolE 7Y 20,000& = 12004 2,400
207 A RO H| 30,000 0 30,000
01 89 30,000 0 30,000
OZE&AE =& &4 30,000,000& = 14! 30,000
301 L2 A= 11,400 0 11,400
09 BAEHIE &S 11,400 0 11,400
O&=Y 0l s#33H 20X SAH (22 FHgt
) 6,000& ~ 508 * 19058 = » 23 11,400
303 LA 3 3,000 3,000 0
01 Z&= 3,000 3,000 0
OSH=s SZEHEI M3 3,000
— e 1,000,000& * 204 A& 2,000
— & 500,000& * 20K 2 1,000
307 gl2tol & 5,000 0 5,000
05 RIZHRI & 3 5,000 0 5,000
OMUAY B4 U BB (HBHYY)
5,000,000& * 14! 5,000
401 Al Bl 28I 60,000 60,000 0
01 A& HI 60,000 60,000 0
OSHES S3JHIEI &AgH 60,000
-2 20,000,000& * 291 40,000
- & 10,000,000& * 20 A 20,000
405 RHoHE S HI 10,000 0 10,000
01 AL EZFH S 10,000 0 10,000
OZTHE Sse2a P (#FFHHIL)
5,000,000& = 2CH 10,000
T EZ AL 14,680 19,380 A4,700
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el ML CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 4,000 4,000 0
03 &AL2 I 4,000 4,000 0
OgZad JISAHAM 2,000,000& * 14! 2,000
OS2Y JIgAadA 2,000,000& * 14l 2,000
301 et d s 5,080 5,380 A 300
09 HALAHIEA S 5,080 5,380 A 300
OXLAHM21H A E & X ¢l
80,000& = 4% = 43| 1,280
OZdA & - S2U3 FAMH
80,000& = 20¥ = 13l 1,600
OEZEFUHHAM 1,100,000 * 23] 2,200
307 21201 A 5,600 10,000 A 4,400
02 HAFHAANGFEE 1,600 0 1,600
O=Esd MHESES MA(E2XS 80%)
1,600,000 * 14 1,600
04 QIZFHALAIH B = 4,000 10,000 A 6,000
OJEAEBEUERT AFAY
4,000,000& * 13l 4,000
O AEHEAMR EEAMY XA(S) 20,000 20,000 0
= 6,000
< 3,000
Al 11,000
307 glz2tol & 20,000 20,000 0
= 6,000
< 3,000
Al 11,000
02 YAFAANHEX 20,000 20,000 0
OJdeAEE &4d E2AY X&
5,000,000& =+ 43| 20,000
= 6,000
< 3,000
Al 11,000
QAME MEHBE =& ((2) 400,000 0 400,000
Xl 200,000
< 60,000
Al 140,000
401 Al HIZ 2018 400,000 0 400,000
Xl 200,000
< 60,000
Al 140,000
01 A& HI 397,120 0 397,120
O2ANE HMEH3H =4
400,000,000 * 99.28/100 397,120
Xl 200,000
< 60,000
Al 137,120
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03 Al S THHI 2,880 0 2,880
ORAUME MEHBH =4
400,000,000& * 0.72/100 2,880
OHMsSAE 25 201,000 220,500 A 19,500
= 20,000
< 10,500
Al 170,500
OrsA=E 2el 146,000 157,500 A 11,500
101 @144 dl 62,900 62,900 0
04 DIt Z2XREE S 62,900 62,900 0
OMENWEOFMAIS (DA R E=AIY) 12
3,700,000& * 1701 SHS 62,900
201 LB-2d| 7,500 6,600 900
01 At 22l 2,000 1,600 400
OsHEllol RoliotsES 2M 225 2 1,000
- 22X, g, X 50,000& * 20X 1,000
ORoiOtdESE =2 =0 HAl M
1,000& * 1,000H4 1,000
02 3322l 5,500 5,000 500
OMEf W EOFMAI S (DFAIEY) ME=ZHl Sl
100,000& * 504 500
ORMOIMESE OoleXs B3
250,000& = 209 5,000
206 M= Hl 3,600 3,000 600
01 =8l 3,600 3,000 600
ORoIMESE OoHE X Ae 2
15,0008 » 20 * 122 3,600
301 L2 A3 20,000 20,000 0
1MIIEESS 20,000 20,000 0
Oletl ZEE4S3 40,000& = 5000te2l 20,000
307 glz2tol & 4,000 5,000 A 1,000
02 It M AMHEE 4,000 5,000 A 1,000
ONtMsE XS MY XA (EXE 80%)
2,000,000 = 204 Al 4,000
402 RI2EX=20| A 48,000 60,000 A 12,000
01 It AL E X 48,000 60,000 A 12,000
OOtMEE ol oA (Ot MEEsd2e|
Hl2stEE Mi12Z) 48,000
—sAREA
2,000,000 * 40704 = 60/100 48,000
OHMESAMEES 2 22/(=2) 40,000 40,000 0
= 20,000
< 6,000
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40,000
20,000

6,000
14,000
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01 g2 tEMdEE
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6,000
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>
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H
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15,000

4,500
10,500

23,000

A 8,000

= M

6,620

2,000
4,620

9,000

N 2,380

04 DIt 22 XS+

49,650% = 2% * 60€

O0s=E ZAIE AHEE=E  331,0008 * 29

= M

H

Al

6,620

5,958
1,800
4,158
662
200
462

9,000

A2,380

206 =4

= N

3,380

1,000
2,380

4,000

A 620

01 M= 4l

Ootds=

pal
HU
[z
il
H0

Oofds=E 9ol 7¢

[oZ]
S

1,690,000& = 1004

5,0002 * 338kg

= M

H

Al

3,380

1,690
500
1,190
1,690
500
1,190

4,000

A 620

302 Ol =L Mo 24 =

= M

5,000

1,500
3,500

10,000

A5,000

02 2ItQITHOH R = 2 &

100,000& * 502

= M

5,000

5,000

1,500
3,500

10,000

A5,000

ol (8#FE25/0I1)

H

H

945,001
258,200
126,000
114,700

637,713

307,288




S =MEAD
M (o|ge(#BES/UII)

&S o 2224 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Al 446,101
33z 887,543
= 258,200
J| 126,000
< 114,700
Al 388,643
tHolegzaz &z 130,343
201 LBt 49,843
01 AL 2l 8,710
OgdiE 23 g8 = M
200,000& = 53 1,000
oo, =&, 42885 s NEHIE S
ol 50,000& » 103 500
OUIl, =28 2853 42F 7¢ 2,510
— OHH O 2t X 70,0003 » 3% A 210
— CO/HCZ & 100,000& * 28t A 200
— HICI23t0l et (B0l =, 15Xl )
200,000 * 1=A 200
—HXANESHA oL 100,000& * 12fA 100
—%H ANz EZFL 30,000& * 30&FA 900
—HHEgA AIZEX -+
3,000& = 3002 A 900
O4&d 2@ 22| 1,000,000& * 13l 1,000
OJIzds tis g8 1,000,000& * 13l 1,000
OEAZQERN &2 1,000,000& * 23] 2,000
Oti&Ed A XNEe=s grzrol =g
000& = 1&¥ « 103l 700
02 =24l 41,133
OUIINZEMF X (96E3595, 5858 ,8%)
= Al 1,679& = 1504 » 12&8 3,023
OUIIANZF X (96x3595, 58 58) =2l
= 200,000& = 1CH 200
oo, =2 s &4 KX 1,800
— =& EH| 200,000& » 138 200
— CO/HCE & DI 100,000& = 1& 100
- 285D 200,000& » 13 200
—HIIAZE DI 300,000& = 13 300
— HICI 23t et 200,000& = 13 200
—PHE E DI 300,000& = 138 300
— Gt S S 200,000& = 13 200
- s 300,000& = 138 300
OUIIE NEE=ZY =2 970
— CO/HCE & DI 100,000& » 104 100
— A, ASEFEFHDI 100,000 * 2CH 200
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
— =S NS AT 600,000& = 1CH 600
— HICI23t0let 70,000&  1CH 70
OIILEXNsS=EL ALZEH =Xl 24,000
— S zteldl 18,000,000& * 14l 18,000
— =& H| 6,000,000& * 14! 6,000
O N=s=2Y EEE 40,0008 * 128 480
OIS NsS=EY SRS
400,000 = 123 4,800
OI2ENs=EL HIILS
230,000& = 123 2,760
OMJIENsEEY EEZA =2
3,100,000 * 14l 3,100
207 & 00 &l 80,000 0 80,000
01 gip gyl 80,000 0 80,000
OJSHSRSUY HIABNEY 28 2
80,000,000 * 14 80,000
301 et A3z 500 500 0
1MIIEELES 500 500 0
Ogdgdsl] ZTaz 50,000& = 10 500
IZHSUHSAIE () 46,000 26,000 20,000
= 23,000
< 6,900
Al 16,100
301 et d = 46,000 26,000 20,000
2 23,000
< 6,900
Al 16,100
MIIEEES 46,000 26,000 20,000
OEHAZEN 29 20,000 = 2,300AlICH 46,000
= 23,000
< 6,900
Al 16,100
SO EM NI (2) 571,200 414,000 157,200
= 235,200
< 100,800
Al 235,200
301 et A=z 571,200 414,000 157,200
= 235,200
< 100,800
Al 235,200
MIIEE43 571,200 414,000 157,200
OsdioIEXME ¥ XSHE At
4,080,000& » 140 571,200
= 235,200
< 100,800
Al 235,200




S =MEAD
M (o|ge(#BES/UII)

Sl O] BAXY (S &2)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ATl 2HM=0 X2(2) 140,000 87,286 52,714
J| 126,000
& 7,000
Al 7,000
301 LBt A= 140,000 87,286 52,714
J| 126,000
&< 7,000
Al 7,000
01 A3 E & A 24 140,000 87,286 52,714
OA&dIol 2HE20 XI& 28,000,0008 ~ 59 140,000
J| 126,000
o= 7,000
Al 7,000
SHAINEEE 2 57,458 56,487 971
SHIMNAEEZ2 ENE £ 57,458 56,487 971
101 21 214| 14,644 13,673 971
04 JI2ZtHIZ22NEE 14,644 13,673 971
OSIMNEEFEEZ2 2UUHY AIEE T ALA 14,644
- Jl=22 44 6403 * 49 x 35 x 23] 12,500
— =54 44 6403 * 498 * 5 x 23] 1,786
—ARRIRNLY
44 6403 * 4H x 1L x 23] 358
201 et d| 42,814 42,814 0
01 AFR 2t 2| bl 1,350 1,350 0
OBAMHRLS B2 #42 W
60,0003 * 5L + 23] 600
QEAFAIMNEEEZ E2 U2 M &
50& = 15,0000H 750
02 E32%H| 41,464 41,464 0
OB NNEEZ2 U&= 39,600
—DXA oY & 2EsSY Q3 (HII2)
300 * 28,0004 = 23| 16,800
— DN oMY L RBBY RB(SEER)
300 * 38,0004 = 23| 22,800
OBAMLLLS NAHF +42
80& = 20,0004 1,600
OstANALAESZ2 X201 (KMHSOIHM &s541) =
=2 22,000 = 12&€ 264
22 (sFBS/HIIE) 5,297,813 5,443,528 N 145,715
= 42,500
= 42,750
Al 5,212,563
SJ|IBAIE 22 541,731 530,000 11,731
E4Helded 57,803 59,752 AN 1,949
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CHel: HIJISIIBEAIE 2tel (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 L2l 51,003 52,952 A 1,949
01 At 22l 27,655 27,880 A 225
OCEEHelAd &2 1,000,000& * 40 A 4,000
OHELHAY Yae 2TAN
900,000& * 43 * 1JHA 3,600
OBELHAT B4 2TAM
500,000& = 43| » 4042 8,000
O&Ex+HMeld KXot =AM
180,000& * 43| » 94 A 6,480
Olgd = EL2E T HA
600,000& * 13| » 8 A 4,800
OHYIIZ2 &3 A ===  50,000& » 10042 500
OFB4+HT 22T HY= 7Y
110,000& * 1H « 23| 220
OBELHZ 22X AFs 2Y
55,000& = 1H « 13l 55
02 =224l 23,348 25,072 NT1,724
OAME B8 MHDIHEE dMIIes 14,400
— OtXs, S 500,000& = 20 = 12& 12,000
— &=, B4 100,000 * 2JH 4 + 128 2,400
OBE+HME(0IX) 4222
30,000& » 12& 360
OFB&=HMelZ(0tXl) 2elA BLA(ER)
1,313& = 3004 » 43 1,576
OEgd KXYl 92,000& * 104 92
O&E=HelAlIZ(0tX) A2l 5,000
—B220,8=8 3882 S
5,000,000& * 14 5,000
OO0tXls EE==Held HHAAY JHAES
160,000& * 128 1,920
206 M= Hl 6,800 6,800 0
01 = tl 6,800 6,800 0
OdE & HItA 2 500,000& = 43| 2,000
OEB4H %E 7Y
100,000& * 45 » 128 4,800
HE &= HUIAY 483,928 470,248
201 Let24d| 1,260 1,260
01 At 22l 1,260 1,260
OJI2284IAAARNE BHA 45
70,000& * 6% = 33 1,260
702 JIS8ES 482,668 468,988
(EWIE=RSE—= 482,668 468,988
OHIJISHMeANEF=HFUXNAII=S HES 482,668
- AXNHHEHS 400,000,000& = 14! 400,000




M HOISZS(BEAES/HIIS)
chel: HOI2JI18tAIE 22 (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
—dMEE MY I SSEHOHS 10/100(H ==
dl HM6xE38) 762,330,000& * 10/100 76,233
—dEE HIIEXM2++=52 10/100(H ==
dl Mex2g) 64,350,000& * 10/100 6,435
Mol ®el 4,730,140 4,885,068 A 154,928
= 42,500
< 42,750
Al 4,644,890
HESEXAY 7,100 15,450 A 8,350
201 LBr2EH| 1,800 1,800 0
01 At 2t 2l 1,800 1,800 0
ORg&soL JIE L HEESST 829 X
B 60,0002 = 5JH4 300
OHEZS, HAXMX, HAAES Ml 22
K= 500& = 3,000% 1,500
301 gt d= 300 300 0
1MIIEBESS 300 300 0
o183 AMERM &1 30,000& = 109 300
307 21201 A 5,000 3,600 1,400
02 RIZFEA MM E X 5,000 3,600 1,400
Os1l=28 UsZH 2F  5,000,000& = 14 5,000
MEYJIEHSEIIHS 10,350 4,350 6,000
201 Let24d] 9,850 3,850 6,000
01 At 2teltl 7,900 1,900 6,000
OMYIIEYEIIZ2E B2 HMA
30,000 = 40& = 23] 2,400
OMgDIEYSIIZ2E e ME
100,000& * 1000 * 43 4,000
OMYDIESEEIZE 829 HE
60,0003 * 504 * 53 1,500
02 =224l 1,950 1,950 0
OMeJI=28EFIl 2AI3t0ect 01 &8H S
300,000& = 208 = 33l 1,800
OMJI=28EFIl 2AI3t0et gl& OldHl =
25,0003 = 208 = 33l 150
301 L2 A F 500 500 0
11IIEtEA S 500 500 0
OMEDIEgE S0 410 Z&3
20,000& = 259 500
ALY 2l 198,283 215,264 A 16,981
201 L2l 175,721 192,620 A 16,899
01 At 22l 1,320 1,200 120
o1l =l 1,320
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
—HYEN 22k o @Ea
55,000& = 8% « 13 440
—HYRN 22X Tz
110,000& = 8H « 13l 880
02 =224l 174,401 191,420 A 17,019
O&FEAEHl SNl 2,200
—OF2I, &=d 100,000& * 22CH 2,200
O&FAX & KXl 172,201
—9543690(UEsES, AKX, &%)
1,679& = 6004 » 123 12,089
—96x9006(HEste, EE+Halx, &R)
1,679& = 4004 = 123 8,060
—9543659(Z8sts, AN, &%)
1,679& = 2004 ~» 128 4,030
—82HH979(HEsE, “HIAUZHEAIL, ER)
1,679 = 1,3004 » 12&8 26,193
— S C7224(Q EH0l, Ji&d)
1,861& = 504 = 12& 1,117
— 9543697 (HES+ste, SAsSXdII+=A)
1,679& = 1,100 »* 12& 22,163
— 86218601 (HHE S+stE, SAsXdII+=A)
1,679& = 1,100 »* 123 22,163
—96x9221(UES+sts, SAsXdII+=A)
1,679& = 1,100 ~* 12& 22,163
—96x9523(HES+sts, SAsXdII=A)
1,679& = 1,100 »* 123 22,163
—87828336(L S, JIISHAE)
1,679& = 2004 * 128 4,030
—9X4(ZES+sE, SIHEX)
1,679& = 2004 » 12& 4,030
—SASAYI =AY =2 S
200,000& = 10CH » 123 24,000
206 = Hl 22,562 22,644 A82
01 M2 4l 22,562 22,644 A82
OLHEuIHEAX A &7 16,500
— S84 300,000& * 2504 7,500
— A0l EE 2 4 150,000& * 604 9,000
Ostzdilstd HHe7 4,862
— ¢ 10,000& = 414 410
— PPEH 300& = 5,0000H 1,500
— A= 6,000& = 4101 = 83l 1,968
—JIEH( MO0l S) 2,0008 * 41 + 12€ 984
OAMZt H=X2lAlE HUZH 7 S
300,000& =« 43| 1,200
MgDlfE el (M8 Y SAZ) 3,773,460 4,014,857 A 241,397
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
101 124 dl 18,750 17,507 1,243
4 D12t Z2XREES 18,750 17,507 1,243
OdtEDl SASRHIIS=EEI NA 18,750
—Jlas 44,6403 * 4% x 90 16,071
- =54 44 6403 * 4H * 12 2,143
— RS sIt=E 44,640% * 4% * 3 536
201 £B-2dH| 11,460 9,970 1,490
01 At 22l 7,500 6,250 1,250
OSAMERHIIE 2el=H E22 MF
508 * 50,000MICH * 35 7,500
02 3322l 3,960 3,720 240
OMEEX 2HES NEE2 S442
9,000& = 2CH = 108 = 123 2,160
O28d2A dMIIes
5,000& * 3001 * 12& 1,800
206 M= Hl 44,100 42,000 2,100
01 =8l 44,100 42,000 2,100
OEHM & AH 55,000& * 60 3,300
OsAEFHIIE S2=HEI 2
42,0003 = S00H 37,800
OZRIGHRA SHYNH 7L
100,000& * 307K 3,000
207 A& Y| 8,000 16,000 A 8,000
01 289 8,000 16,000 A 8,000
OMEBMY D 2TSBHB2 AINEAN B8
8,000,000& * 14! 8,000
307 glz2tol & 3,686, 150 3,844,380 A 158,230
05 RIZHRI &t 3 3,686, 150 3,844,380 A 158,230
OMEMYI| BAHBE
3,825% = 48,500AMICH = 123 2,226,150
Osasiddl 28 2 Ml UAASE 2] 1,460,000
— 28t 26,000& = 10,000& 260,000
—H™el 120,000& * 10,000& 1,200,000
401 Al BIZ 2018 5,000 85,000 80,000
01 A& HI 5,000 85,000 280,000
OgXIHIIES &Ml (Zd0E §)
1,000,000& * 5& 5,000
MEJIEEH=SE 22 357,447 243,947 113,500
201 L2l 14,500 12,500 2,000
01 At 22l 14,500 12,500 2,000
OmJIExdels HE(UE) 500& = 5,0000H 2,500
OHME 3 SASF TEM A =28 12,000
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eelr X0 ™Mel (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—olze S 252 MA
400 * 10,00001# * 3= 12,000
206 M= Hl 292,700 181,200 111,500
01 T2l 292,700 181,200 111,500
OMIIESEN 828 ME 201,000
—MEMY I SE HMA 80 * 1,725,00004 138,000
—SASFRHIIS S5 MH
28& = 1,000,0000H 28,000
—-338 8% A 80& * 100,0000H 8,000
—SAESFHII=S &8 & M&
30& * 900,0000H 27,000
OHSTHEg SASIHII= HEEJ L3
2,540 ) 6,000& = 10,000l CH 60,000
Ogas8(AYg S) SASIHIIE HHEsSI 2
24 (208 ) 12,000& = 1,6004 19,200
OMESE 2+l EX(AINXS)
250,000& = 504 12,500
307 QI2+0| & 49,747 49,747 0
05 Bl 3 49,747 49,747 0
OMYIIZESIE B2 4R 49,747
— MMy D] 604,110,000& * 6% 36,247
—SAESFHII=S 225,000,000& * 6% 13,500
802 Btet= DI Et 500 500 0
03 Ugd=s 500 500 0
OSSN HdESE =8 &=
10,000& * 502/ 500
WESELTLA2 NUB(Z) 10,000 6,000 4,000
< 3,000
Al 7,000
301 et A= 10,000 6,000 4,000
< 3,000
Al 7,000
MIIEE43 10,000 6,000 4,000
ONgss 8242 N=(Hemeld HEeta
& HsAglY) 403 * 250,000kg 10,000
< 3,000
Al 7,000
Hasssd243Xs 198,500 198,500 0
301 Lpte &3 198,500 198,500 0
11IIEtEA S 198,500 198,500 0
OHX&E =HE4= 198,500
— HHlE 120& = 1,500,000kg 180,000
—s%PY(RclY) 150& = 10,000kg 1,500
— s (EctAE) 800& =* 10,000kg 8,000




= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—sA4=KX 1,000& = 7,200kg 7,200
— H X 30& = 20,000kg 600
—H%olg 30& * 20,000kg 600
— HSctAE 30& * 10,000kg 300
- 0= 30& * 10,000kg 300
sZEHUE ™Ml =HEIX & (=) 100,000 86,700 13,300
= 20,000
< 24,000
Al 56,000
301 et a = 100,000 86,700 13,300
=2 20,000
< 24,000
Al 56,000
IARPI S =S = 100,000 86,700 13,300
O=sZHHE =A243 100& = 1,000,000kg 100,000
= 20,000
< 24,000
Al 56,000
AsHUIESSHGIEESIA(Z) 75,000 100,000 A 25,000
= 22,500
= 15,750
Al 36,750
401 AIEHI L 2 CHEI 75,000 100,000 225,000
= 22,500
< 15,750
Al 36,750
01 A& HI 75,000 100,000 A 25,000
Og=sHblE SsdotE &X
5,000,000& * 1500 A& 75,000
= 22,500
S 15,750
Al 36,750
S0t 2el 25,942 28,460 22,518
2 0lstd 2l 25,942 28,460 22,518
201 Let24d] 21,357 22,820 A 1,463
01 At 2teltl 1,610 7,260 25,650
OMEmHIE =, 84 23 Y 72
403  2,50000 = 103 1,000
OtZ0Iatd AR HAES & 424 23
-+ 100,000& * 43| 400
OogZolsta &g 210
—HEIY 100,000& * 1Y 100
— 89 60,0008 » 1H 60
—Z20Y 50,000& = 1¥ 50
02 232gl 19,747 15,560 4,187




SA MBI
M Holeu

ool 2Z0|std 22 (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Otdilstad AR & IFAX A4 2el
1,000,000& = 200 A 2,000
Otdllstd AR & MIAE 8IIes
1,000,000& * 128 12,000
Otdllstd AIR4A dot=ER=
100,000& * 128 1,200
Otd0lstd XX HEAAH HAES
160,000& * 128 1,920
OE2ed Azt (Hgs,8%)
1,313& = 3004 =« 43 1,576
OZ0Iatd MR MRE 222 HzH|
(ER) 1,313& = 2004 = 43 1,051
301 LEtE A= 3,585 5,640 A 2,055
09 SALAHIE& S 3,585 2,640 945
OZ0Istd MSEA XA (SHHE )
55,000& = 47H = 13l 2,585
Otg0Istd HUEEUX HAXX AS(SHME
B <2 Xt+) 500,000& * 1H = 13 500
Od0Istad FEEST R4E
500,000& = 1H « 13l 500
405 XHoHF S HI 1,000 0 1,000
01 et EZFH S 1,000 0 1,000
Ostdolstd MEDI 7¢ 1,000,000 * 1CH 1,000
Q- H=% ZA2(HIES /Mot - =) 723,060 1,104,363 A 381,303
Xl 274,000
< 107,500
Al 341,560
=&zt 723,060 1,104,363 A 381,303
Xl 274,000
< 107,500
Al 341,560
EHstx 22 60,676 54,248 6,428
101 124 dl 16,071 7,503 8,568
04 JIZHHZ2XREE S 16,071 7,503 8,568
O3ss=ad sA2e
44,6403 * 2% = 180 16,071
201 Zet24E] 41,320 41,270 50
01 At 22l 10,820 11,370 A 550
OJ=Ehx & H3x A 2d sE28 HA
40% * 4,0002 * 25 320
OFstx 4 ot SA MEH
100& = 5,0000H 500
Ooz3ssad § 29 6,000
—SSHEY S HAEE N
50,000 * 40002 = 33 6,000
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SM: SMERD
B 9 M4 B2 (BPLS/MEAT - +3)
el amael (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJNSASHEXNY NECH HE 9|
20,000,000& * 14l 20,000
STAZEMLSAMNE(Z) 169,000 100,000 69,000
< 39,000
Al 130,000
401 Al HIZ 201 Y] 169,000 100,000 69,000
< 39,000
Al 130,000
01 A& HI 167,479 99,100 68,379
SSSEA ALY
169,000,000 * 1JH4 * 99.1/100 167,479
< 39,000
Al 128,479
03 Al S THHI 1,521 900 621
OZSs&a HEAY
169,000,000& = 1JH4 * 0.9/100 1,521
A MESHESE A () 456,667 933,333 AN 476,666
Xl 274,000
< 68,500
Al 114,167
401 Al HIZ 201 Y] 456,667 933,333 ANA4T76,666
X 274,000
< 68,500
Al 114,167
01 A& HI 453,790 927,453 AN473,663
O=HE MHGtE S ALY
456,667,0002 * 99.37/100 453,790
Xl 274,000
< 68,500
Al 111,290
03 Al SR THHI 2,877 5,880 A 3,003
O=H& dEotd =AY
2,877,000& * 14 2,877
BHSI P (SMEZD)(JIEH/IIE) 2,090,062 2,203,938 A 113,876
el 2 gl 1,932,902 2,048,598 A 115,696
ol 2| 1,932,902 2,048,598 £ 115,696
101 @14 dl 1,932,902 2,048,598 A 115,696
03 RIHAZ 22+ 1,932,902 2,048,598 A 115,696
Ostzdilsta e 1,901,272
—Jl=s 1,345,850& » 418 » 128 662,159
—J|2=ag 981,959,000& /128 * 200% 163,660
— 32249 981,959,000 /128 * 45% » 23| 73,647
— M= el 981,959,000 /128 * 250% 204,575
—S=gfe 90,000& * 41Y = 123 44,280




SH: SMEED
H: HHE2FAH (SMHSF D) (IIEHIIE)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— Mg A-E 70,000& * 41 = 123 34,440
— ZWZ Al 160,000& » 4198 » 128 78,720
— WS EX 140,000 » 419 » 123 68,880
— JtA2 =4I 110,000& = 41¥ » 128 54,120
-4 50,000 * 41H = 12& 24,600
— M= 30,000& = 418 » 128 14,760
—JIE< (<= X) 40,0008 » 329 + 12& 15,360
— k=== (JIEH 20,000& * 41% = 123 9,840
— S E S0t
981,958,200 /12& * 60% * 23l 98,196
— At Z2e+H
14,8812 = 150% * 20Al2t » 23% * 12& 123,215
— 52
74,4053 = 150% » 23F * 60 154,019
— ARSI
119,048& » 41H » 15Y 73,215
— AU EXZSY 3,586
nsstu 298,800& * 3" =« 43| 3,586
Ostzdilatad m=l 22,550
-5 100,000 » 41 » 1& 4,100
—ot= 100,000& * 41 * 1&f 4,100
- 29 30,000 = 41 = 13 1,230
— &3 50,000& = 41H = 13 2,050
— &Y 50,000& * 41H = 1= 2,050
— Ot =) 20,0003 * 41H = 12 820
— 3= 100,000& * 419 » 1& 4,100
— g X)) 100,000& * 41 * 1&f 4,100
OZ0Iste AHOPMEHH (SHHE ) 8,580
— Y HYISH(MAE S)
30,000& * 41 = 13 1,230
—Sgaddd 350,000& » 21H » 13/ 7,350
OgZd0lsta HAE SR HdAX A
500,000& = 1H 13 500
=l 157,160
Jl2&l 157,160
201 Let24E] 30,660
01 At 22l 30,660
O=AEX ¢ 15,0003 » 304 « 123 5,400
OS20AH| 6,000& = 64l = 3098 » 123 12,960
Ogtx=x=g 100,000& * 122 1,200
OL72 EAFLYI 50,000& = 12& 600
OLA2 =4t 8,700
— =S AMI =2l 500,000& = 1.5CH 750




SH =MEHD
H: HHE2FAH (SMHSF D) (IIEHIIE)
¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— ZelH =2 100,000& * 5CH = 50/100 250
— =AM EYH 200,000& = 53 = 1.5CH 1,500
— IZ2H EU(E) 200,000& * 53 * 504 5,000
—PC =2l 100,000& = 30CH * 20/100 600
— JIEt =2lHl 50,000& * 12& 600
OJIE AFR2t2lH] 5,000& = 30¥ ~ 123 1,800
202 O4dl 120,000 120,000 0
01 =2 LHAYI 120,000 120,000 0
O 22 ol 120,000
— 2t 04 dl 20,000 = 30& » 12&€ = 12 86,400
— 220yl 80,000& = 30¥ » 14« 33,600
203 R =&l 4,200 4,200 0
04 FN2ELSZ=TH| 4,200 4,200 0
ORAN2EYE=4HI 350,000& = 123 4,200
204 MR FH| 1,200 1,200 0
01 MM AR I 1,200 1,200 0
ORMIUDL A (SHBLYE)
100,000& * 1Y » 123 1,200
405 TtabF S 1,100 0 1,100
01 AL EFH S 1,100 0 1,100
OAMSA TV 2 1,100,000& * 14l 1,100
Hees(sMstd ) (#HES/Mot+E - =2) 688,500 719,710 A 31,210
HEHHK = 688,500 719,710 A 31,210
LHEHeHXI = 688,500 719,710 231,210
701 JIEtSI HEHES 688,500 719,710 231,210
01 JIEtSIHE &S 688,500 719,710 A 31,210
Ox=ZIMEEEINH HES 688,500
—QAETH NN HY 8
40,000,000& * 14l 40,000
—33ot=HelAlE 2F 22 94|
250,000,000 * 14 250,000
— 330t AIE 2D =AY
5,000& * 500m * 100H 2 25,000
— 330t=HMelAlE MeldE =el=4&8l
5,000,000& * 357 A& 175,000
—ZEstaHANL BHEE S2l4MY]
3,000,000& * 30H A& 90,000
— 330t=HMelAld =Xl ™eltl
380,000& * 60H A 22,800
— 33Gt=HMelAE =Z2ZA =2
85,000& = 350 + 123 35,700




SM: SMERD
M WYRES(SMBAD)(BALS/YGEE - 27)
S WEAHAHX = (chel & 9l)
= - — -|ll:=|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
-/

—OISot=H™MelAlE 23|

50,000,000& =

1/\

=

50,000




